Z=E [E i At iR = 8 5 B E R 8%

o= - 4B (U Sv./h
oy o = FHE(u Sv./h)
6 8 20H 9H20H 128198 3H820H

5cm 0.057

FE 5 STALAZ AR 50cm 0.050

A {8 3< B8 Al 100cm 0.055

150cm 0.048

5cm 0.059

i 50cm 0.059
SHBEXAT

100cm 0.055

150cm 0.055

5cm 0.099

o 50cm 0.095
KB EXZAR

100cm 0.090

150cm 0.084

5cm 0.055

s 50cm 0.058
IR E X

100cm 0.065

150cm 0.062

5cm 0.083

50cm 0.084

K IFRFRER S5
100cm 0.076

150cm 0.072

acm 0.074

50cm 0.071

NIXERSRAL
100cm 0.076

150cm 0.076

acm 0.098

50cm 0.072

NIX:ANFEfHE
100cm 0.086

150cm 0.077




Z=E [E i At iR = 8 5 B E R 8%

S 4 {iE
6H20H 9H20H 128 19H 3H20H
ocm 0.079
. 50cm 0.070
WRACGHBAEEEFT)

100cm 0.075

150cm 0.075

acm 0.068

50cm 0.070

BRYADIIIN—=0
100cm 0.067

150cm 0.061

acm 0.074

50cm 0.070

HRNCEEYIE
100cm 0.062

150cm 0.067

5cm 0.087
. 50cm 0.088
LB R R ILHR

100cm 0.094
150cm 0.076
5cm 0.071
_ s s 50cm 0.058

= IEEIEH 5

100cm 0.064

150cm 0.067

Bl 28 - HORIBA-PA1000
B 2490 —R LR (1 Sv/h)
BITE A% GBI ERAIR R 607 LIE, 10ME DB RIEZSEIEEEXLI-2ED F15E

OEEHOESATERICEYRAELE-EDTHS-0. SEEELYET,
OBRIELEITRTOHMRICDONTIE, FERRERFAEMBDIEEERTHA023 4 Sv/hETE-ST
WET,



